.3 T = =3 it & =
No
E -8 B RO B |Z=EaGh) | #E(S5E) | H=EE biEi]
<tI>
INRRE S
R1E BH0.28m3 m3 24
JREAL
BR 35cmil E m3 20
TRE RE~REG~HIG m3 20
T HE INFRAE 44D 35kmLLTF m3 4
Et s+ m3 4
<EiELI>
el 15cmELF m 19
S MRS RE INRAE m2 10
B 2tD 17kmBL T m3 0.5
TATT VAR m3 0.5
<HEEHI>
B800*H500
NI m 80
t=10mm
R U BGiE#t Tkef/5cm m2 82




y. 3 I =1 % & =
No.
I & - # B O B ([#%s@iE)|$E(Sh) | HsiEE it

<Z@mI>

0.35m3#k B L
EEER Bt BlEY m2 43
<{REET>
HESRERE - BET RE-HE m2 181
R ER 3048%1524%22mm 54 39




73 I = - = 4 i e
No.
I & - B B8 B [%E@E) | %E(SE) | BEEE i
EEIRE = 1
B RERE = 1
HBEREREGEL) K 1
B E = 1
Bk B (RERM) HmE12mLlA FEEE20kmiEE t i
MTEE = 1
RS EEE = 1
T =R (i =X 1
— B E = 1
T = {fiitk = 1
HE TR L 58 = 1
AIZE = 1




